A BHAVAN’S SCHOLARSHIP EXAMINATION 2015-2016

ALL KERAL
LASS: X1l (COMMERCE) TIME: 90 Min.
MARKS: 100
///- ENGLISH
1. Raj Kumar Shukla was :
b) a politician c) a delegate d) a landlord

a) a sharecropper

Edla Wilmanson was :

a) cautious b) compassionate c) suspicious d) unkind

ch of the following is a fear of water?

3, Whi
b) Xenophobia c) Hydrophobia  d) Anglophobia

a) Claustrophobia

The word ‘pacifism’ means:

a) promoting peace
c) prornoting war

b) offering solace
d) working for progress

5. Much of South America was when diseases were introduced by migrant

Europeans.

a) enraged b) ravaged c) savaged d) engaged

6. The vicar in the story The Invisible Man’ is:

a) Mr.Bunting
¢) Dr.Kemp

b) Mr.Teddy Henfrey
d) Mr.Fearenside

7. 1 don’t like it when news readers start giving their opinions about the

news. That is not their job.

a) substantial  b) subjugated c) subversive d) subjective
8. The phrase ‘going places’ mean:
a) an adventurous journey

c) deportation

b) travelling to exotic places
d) becoming popular or famous

ECONOMICS

9. The rate at which the consumer is willing to sacrifice one good to obtain one
more unit of the other good.
a) Market rate of exchange

c) Marginal propensity to save

b) Marginal propensity to consume
d) Marginal rate of substitution

10. Capital loss is .
a) normal wear and tear of fixed capital

¢) unforseen obsolescence

b) forseen obsolescence
d) depreciation
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i inplfltifig cost fall to zero because of
a) implicit cost D) s¢ . does not

Is to zero national inco™
If investment falls to ) tiplier t

* . b] mu .nvestmen

a) autonomous consumpt‘torl d) induced 1
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¢) autonomous INves

iture
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GNP exceeds NNP by. b) governmz%etween gross and net anestments

a) amount of total taxes d) differenc

c) transfer payments eads to rise in total eXpendityr,

eqegpt 5 one 1 i .
Out of the following possibllltles, Whlg;lEd <1 and pqce ;_‘;j;ess
a) Ed = 1 and price rises 4 Ed <1 and price

c) Ed > 1 and price rises —_—
o . e-demand relationsil
Goods that exhibit direct price bc;e:;mplimen tary goods

a) giffen goods s
c) substitute goods d) none of

p are called_ .

marginal cost will be

If the total cost curve is parallel to X-axis, &) zero d) none of thege

a) increased b) decreased

Price discrimination is one of the feature of.

a) monopolistic competition b) m'onopoly

c) perfect competition d) oligopoly
BUSINESS STUDIES

Dominos’ does not give its franchise to any other company which running fooq

business. This is related to which type of plan?
a) policy b) strategy c) procedure d) objective
Treasury bills are basically

a) an instrument of capital market

b) an .instrument to borrow short term funds

c) an Instrument to borrow long term funds

d) an instrument to borrow money for 4 short period of one day

Which of the following belongs to Middle Leve] Management?

a) Chief operating officer
¢) Factory Supervisor 3)) g/iitlggshead
Hemi Fayol wag a )
a)) iocial Scientist b) Mining
e Ccountant 8 tngineer
| d) Production Engineer
Magazmes_ and pastrieg are examp]
a) conv'en.lent products P estf e
¢) speciality products d; (Sihoplp)ung Preducts
arable prodyet
S
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Globalization signifies T
a) integration among various economies of the world.

b) disinvestment in public scqtor.
c) removal of economic licensing.
d) none of the above.

23.

The highest level need in the Maslow’s Need Hierarchy Theory is .

4.
2 a) Physiological need b) Safety need
c) Self-actualisation need d) Esteem need
5. Which one of the following is not an element of direction?
a) Supervision b) Motivation c) Delegation d) Communication
26. The control function is intended to
a) attain organizational goals b) check errors in performance
c) boost employee morale d) all of the above
ACCOUNTANCY

27. If shares are issued to promoters for the services renderd by them to form the

:I company, the amount of shares issued will be debited with the nominal value
| of shares to the account of;

a) Incorporation expences a/c b) Goodwill a/c

c) Asseta/c d) Share capital a/c

8. X, Y & Z are partners sharing profits and losses in the ratio of 5:3:2 decide to
share the future profit in the ratio of 2:3:5. What will be the treatement for
Workmen Compensation Fund appearing in the Balance Sheet on the date if no
information is available for the same?

a) Distributed to the partners in old ratio.

b) Distributed to the partners in new ratio.

c) Distributed to the partners in capital ratio.

d) Carried forward to new balance sheet without any adjustment.

& 29. Any change in existing agreement of partnership is known as :

a) Revaluation of partnership b) Reconstitution
c¢) Realisation of partnership d) None of these

30. Revaluation Account is debited

a) on increase in provison for Doubtful Debts
b) on increase in value of Land and Building
c) on decrease in amount of creditors

d) to transfer loss on revaluation

31. X Ltd purchased Machinery for Rs.40,000/- payable Rs 13,000/~ in cash and
balance by issue of 11% debentures of Rs 100/- each at a discount of 10%.

How many debentures would be issued to the vendor?
aj 330 b) 300 ¢).400 d) 500
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i ith
t is debited W1
. Capital Accoth lue of shares
32. If shares are for;'exlt]ed;SShar e Cap bl e Calllﬁet c}i] :I;l;’:ve
lue of shar e
S ttille ff;gg f;o value of shares d) no |
o can be issued is

i tures . e
33. The maximum discount at which deben d) no such Limit

0,
a) 10% b) 20% c) 50%

34. Debenture account is a b) Real account
a) Personal account d) None of these
c¢) Nominal account )

. : n in tne cash flow
35. Cash Recipts from sale of long term investment 1s show

statement under . . o
ities
a) Investing activities b) Opell;atu:;lgiv/:l:élr‘l/t
c) Financing activities d) Cash eq
GENERAL KNOWLEDGE

36. Name the Indian born person who was appointed as the C.E.O of the internet

giant ‘Google’ on August 10t 2015. . ' .
a) Satyam Nadalle b) Bill Gates ¢) Shiv Nadar d) Sundar Pichaj

commercial bank at present is
b) Federal Bank
d) Punjab National Bank.

37. India’s largest public sector
a) State Bank of India
¢) Syndicate Bank

38. Name India’s latest and third Scientific Research Station in Antartica.
a) Bharati b) Maitri ¢) Dakshin Gangotri d) Manasarovar

39. Which African city will host the 2022 Common Wealth Games?
a) Pretoria b) Kimberley ¢) Johannesburg d) Durban

40. ISRO has Successfully launched communication GSAT-6 satellite by using

which rocket vehicle recently?
a) GSLV-D7 b) GSLV- D8 ¢) GSLV- D5 d) GSLV -D6

41. Which among the following is India’s highest forejgn exchange earner sector?
a).Engineering Exports b) Jewellery Export
c) Petroleum Products Export d) Tourism

42. ‘Mind positive Life positive’ was written b
° N ? y '
a) Joginder Singh b) Edgar Snow ¢) E.L.James d) Sasi Taroor

1.Q

43. Complete the series,
6, 13, 25, 51,101,

a) 201 b) 202 c) 203 d) 205
44. Duster : Chalk
a) Erasure: Writing b)'CI i
oth : Air'
¢) Blackboard : Chalk d; Sponge?lvlk;ater
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45. In certain code ROAD is written as URDG. How is SWAN written in that ?
a) VZCQ b) VXDQ ¢) VZDQ d) UXDQ code’

46. Find the odd one out:
a) stone b) granite c) marble d) sandstone

47. Which letter does not belong to this series?
HDRYL
a) Y b) L )R d) D

48. When Rajeev was born his father was 32 years older than his brother and his
mother was 25 years older than his sister. If Rajeev’s brother is six years older
than Rajeev and his mother is 3 years younger than his father, how old was
Rajeev’s sister when he was born?

a) 7 years b) 10 years c) 14 years d) 19 years

49. What is the number in the 5% ' cell?

9 |38 |47 |4

63542*

1o |21 |23 (27

a) 10 b) -5 c) 32 d) 18

50. Which alpha-numeric is the odd one?
op 8F 3E 6C
a) 8F b) 3E c) 9D d) 6C

TIE BREAKER

51. Which of the following stories deals with relation of children with their

parents?
a) Going places b) Lost Spring
c¢) Should wizard hit mommy d) The enemy

52. Which of the following is an indirect tax?

a) Income tax b) Corporation tax c) Wealth tax d) Sales tax
53. ‘Consumer has a right to acquire knowledge’. Identify the right.

a) Right to be informed b) Right to choose

c¢) Right to consumer education d) Right to seek redressal

54. Which of the following transactions is Inflow of Cash™

a) Purchase of stock in trade on credit b) Declaration of final divident
c) Along term loan from bank d) Cash withdrawn from bank

55. Headquarters of NIN (National Institute of Nutrition) is located at
a) Hyderabad b) Pune c) Bhopal d) Lucknow
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